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Chapter 4 Day I (Sections 4.1 - 4.3 and 4.5)

You will need to memorize the solubility rules.
Cut them out and start learning them. They are

also available as a Quizletflashcard seú. See
Chm 203 website. They will be on the exam.

1. What mass of potassium nitrate is needed to
make 500.0 mL of a 0.250 M solution?

2. What volume of the above solution is needed to
deliver 0.080 mol KNO3?

3. Suppose 5.00 mL of the solution in Question 1 is
diluted to 100.00 mL using volumetric glassware.
What is the molar concentration of the resulting
solution?

4. Suppose 50.0 mL of the solution from Question 1

is diluted by adding 250 mL water. What is the
resulting molarity?

(Unit 2) 20 September 2019

5. Sketch the ions present in an aqueous solution of
ammonium dichromate
ls this solution
electrolytic?

6. What is the molarity of
each ion present in a
0.20 M ammonium
dichromate solution?

Questions in final exam format (multiple choice):

7. What is the concentration of NO3- ions in a

solution prepared by dissolving 15.0 g of Ba(NO3)2

in enough water to produce 300.0 mL of solution?

A. 0.057 M B. 0.191 M

c. 0.573M D. 0.382 M

L A student prepared a stock solution by dissolving
20.0 g of NaOH in enough water to make 150. mL
of solution. She then took 15.0 mL of the stock
solution and diluted it with enough water to make
65.0 mL of a final solution. What is the
concentration of NaOH for the final solution?

A. 0.769 M B. 0.548 M

c. 1.40 M D. 1.82 M

9) ldentify the statement that is true about
nonelectrolytes.

A. Nonelectrolytes dissolve in water producing
ions.

B. Nonelectrolytes do not dissociate in water.

C. Nonelectrolytes conduct electricity.

D. Most nonelectrolytes are ionic compounds.

Now try these problems from the book:
Section 4.1. (Molarity) Problems 1,2, 3,4, 46 - 56

(even)

Section 4.2. (Dilution) Problems 5, 6, 58, 60

Section 4.3. (Electrolytes) Problems 7, 8, 62, 64, 66,

68, 70

Section 4.5. (Net ionic equations for aqueous
reactions) Problems 9, 10
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